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Question 7

Consider the function /: (0,cc)—» R. /(*) = — . The graph of y = f(x) is shown on the graph

below.

The graph of y = /(jr) is to be transformed to become the graph of y = / — .
W

a. On the graph above, sketch this transformed function. Clearly mark die coordinates of 
any two points on your graph. , I , ,

n ^ 7, > *4

b. Describe the transformation that has taken place.

d'\Qfrclpr A ________(fVoyv^______ Hfg

c. Write down a rule for this transformed function. „ /
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7C — 7+T+ = 4 marks
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